POLOS Y CEROS DE STS-2 N/S 49523
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2nd generation STS-2

b
Zeroes: Poles:
Zo = Zre0 + 'L-Zimo ZO =-5.907 > lO3 + 3.411i = 103 P0 = Pre0 + i-PimO P0 =—6.909 103 — 9.208i > 103 PS = pl-eﬁ + i'Pimi pg — _0§.44 — 442 8i
Z1 = Zreo - i-ZimO Zl =-5.907 » 103 —3.411i % 103 Pl = Preo - j-PimU P1 =—6.009 x 103 + 9.208i x 103 p9 = pl-Ej _ i-Pi1115 p9 = _08.44 + 442 81
Z,:= Zre) + 1-Zim, Z,=—683.9+ 175.51 P, = Pre; P, =-6.227 = 10° P, = Pre, P ,=-1095
Z3 = Zrel — i-Ziml Zs =—-683.9 - 175.51 P3 = Pre2 + i-Pim2 P3 =—4.936x 10j — 4.713i > 103 Pll = Pre? + 1‘.pimT p11 = —0.037 + 0.037i
24 = Zre2 Z4 =-555.1 P4 = Pre2 - 1'-Pim2 P4 =—4.936 % 1[]3 + 4.7131 % 103 p12 = Pre - i‘Pi.ITlIT Pl_’ =_0.037 — 0.037i
Z)_ = Zre; Z5 =-294.6 P5 = Pre; P5 =-1.391= 103
26 = Zre4 Z6 =-10.75 P6 = Pre4 + i-Pimjr P6 =—556.8 — 60.051
‘Mixer pole’: P? = Pre4 - 1'-Pi1n4 P? =—556.8 + 60.051
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STS-2 N/S 49523
5
2nd generation STS-2: Amplitude
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2nd generation STS-2: Phase

STS-2 N/S 49523
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